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BBHES80E: 0.1Hz ~ 100KHz
MEES E=H: 1/8,2/8,3/8,4/8,5/8,6/8,7/8 %1 8/8
ASE: cLNA1 (3K) # cLNA 2 (30K)
Gl
CLNAL: 3Hz-1MHz, &/NAANBEIRE: <2.5pA/ (@5KHz)
CLNA2: 3Hz- 300KHz, S/ NBINB E IR <0.76pA/ (@5KHz)
JER:
1x, 2x, 3x, 4x, 5x, 6x, 7x F 8x
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Bias: Vd=2V, Vg_H=2V, Vg_L=0V Vb=0V, Id=2.17E-4
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I Excitation frequency = 1KHz
T 1.0e20 Excitation frequency= 10KHz
]
@ Excitation frequency = 100KHz
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Duty Cycle—50%
1.0e-22 ™ Delay time=1x
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Bias: Vd=2V, Vg_H=2V, Vg_L=0V Vb=0V, Id=2.17E-4
=87.59
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I Duty cycle = 50%
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«n Duty cycle =25%
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